
                            Solving Equations 6                  (KEY)
Geometry

Evaluate the following expressions given the indicated value for the variable.
1)   k(-7) + 108 ÷ k  ! 14,    k = -3 2)   12(30) ! (3b)  ÷ 3  +b ,   b = 53 2 2 3

    (-3)(-7) + 108 ÷ (-3)  - 14 12(30) - (3(5)) ÷ 32 + 53 2 3

      21 + 108 ÷ (-27) - 14    360 - (15)  ÷ 9 + 1252

            21 + (-4) - 14     360 - 225 ÷ 9 + 125
     360 - 25 + 125

 = 3  = 460

Solve, check, and graph the following equations.
3)   65 = -12x + 5 4)  -22 = -q ! 8 5)   3x + 5x = 48
      -5               -5                                     +8            +8                                                8x = 48

  8       8
        60 = -12x -14 = -q       

       -12     -12 -1      -1 x = 6

-5 = x 14 = q

  T 65 = -12(-5) + 5 T -22 = - (14) - 8 T 3(6) + 5(6) = 48
       65 = 60 + 5     -22 = -22T       18 + 30 = 48
       65 = 65T     48 = 48T 

       C C C
     -5              0                                           0              14                                          0            6

6)   x + 11x = -108 7)   8x ! 3x = -40 8)   4x + 2x ! 5 = 61
12x = -108 5x = -40 6x - 5 = 61
 12        12  5        5                                                    + 5   + 5

     6x = 66

x = -9    x = -8           6       6

T (-9) + 11(-9) = -108 T8(-8) - 3(-8) = -40         x = 11
         -9 + (-99) = -108      -64 - (-24) = -40

-108 = -108T         -64 + 24 = -40 T 4(11) + 2(11) - 5 = 61
    -40 = -40T  44 + 22 - 5 = 61

  61 = 61T
              C    C

-9         0  -8               0 C 
0                     11



9)   3x + 7 + 3x = -35 10)   7x + 19 ! 6x = 15
              6x + 7 = -35        x + 19 =15
                   - 7     - 7                                                                          - 19   -19

        6x = - 42

         6       6 x = - 4

           x = -7 T 7(-4) + 19 - 6(-4) = 15

     -28   + 19 + 24 = 15
T 3(-7) + 7 + 3(-7) = -35  15 = 15T
   -21 + 7 + (-21) = -35
            - 42 + 7 = -35 C

    -35 = -35T -4                           0

      C
     -7                         0
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